Year 12 Ocr/Nov TesT

n) Sdve the ec[,aa(:ion
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2)  Simplipy
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By 1 + /iy

) i <—75_’-> [ 5 marks]
3) Express 2o~ hx + | in the fom al2gb) .+ €

whee a,b and ¢ need fo be fOufld.

Hence Skel—ch the curve 3: &xl—l.txw‘—l indl’Caéi:lj H’»e
coordi nakes of its skakiona Pomk.
ﬂ [ 7 mAR.KS]

q) o) Solve the simultanegus qua['foﬂf

d+3 =9:1+2x
j+7 = b

b) Inf:erpfek the answer  in a) jeome/r,'ca{/] . Eé MARK?]

5) o) Solve a(sebfod-caﬂj
x*-2x =15 > O L 4 maaks)
b) Solve araPkICaua
20" +5x =3 < O L 4 maaks |
6) show that bthe  eguation
x*+ (ak-) e + (K-@k+1) = O

has no real rooks for anj /< \/o/ue. E " K]
mARKS



